SET - 2
Test Code : 104
Time: 90 Min. CHEMICAL SCIENCES Max. Marks : 100

1. Which of the following does not give flame coloration?
808 I’ arer BEES® Borbir aB0B DB?
A Mg (b) Ca (c) Sr ; (d)Ba

2.  Whatisthe iﬁolecﬁlar formula of Borazole?
FESS G0 @ea)&éaé@ d6?
(2) B,H (b)BNH, \/6 B;N,H, (d) B,N,H,

3. "SiO, isreacted with Sodium Carbonate". What is the gas liberated?
“VWlado seeyJeSat Si0, 565 Bobse. & $856° O a0 DHBBHE?
@CO  _AB)Co, - ©0, ()0,

4. Which is the most explosive?
Bod & D6 ©h¥ Cﬁ)e:otfo KeErHo BOA @otHH?
ADNC, . (b)PCl, (©) AsCl, (d)BiCl,

5. Super oxide is an oxide of the type.
(a) acidic_ ' (b) amphoteric
(c) Oxygen content more (d) Sub oxide
‘S8 eB)E” V5 @ DS ©§E?
(a) o5y Sggesso (b) & Segrsso
(C) 088 eB)mS 5OAS (d) 68 oB)E
6.  Which of the formula given below is wrong inrespect of inter halogen
compounds?
©088 &S, SyFrod Sonofod [Bod IS $O°R Frtiper &7

(a) Ax, /(b) Ax, (c) Ax - (@) Ax,
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7. CH, Li on reaction with H,0 gives ...
H O & CH, Li 3t 308 aspde....

A@) CH, (b) CH,OH (c) LiHH (d) CH,CH,
8. [CO (NH3)5 SO,] Br and [CO (NH,), Br] ‘SQ‘-‘ are a pair of ......... .. isomers.
(a) Ionization (b) Ligand  (c) Co-ordination (d) Hydrate

[CO (NH.,), SO,] Br $8¢5%» [CO (NH.), Br] SO, %039 .......565)8s0e.
ACNZ Y e 2, ; 35 4 O I

(a) ®cH88e  (b) 8ol (c) J0H (d) @S
? . Which of ;che following exhibits dia magnetism?
(Bob TAE® DB Kb weHToBSENK (HEGoSH?
S5 S (b) Ti®* ©V¥* (Mo
10. . The energy gap between conduction band and valence band is largein ...
;,({) Insulators : (b) conductors b
(c) Intrinsic - Semi conductors (d) doped semi conductors

S 58 $0aH> Bodrey $Bec® ¥8 wodbin VHZT SOwRB...
(a) @aeSeseen ‘ (b) s®esren
(c) Jgrsses @Paeesren (d) $rB85e 380D efarirsee

11. The shape of Nickel Carbonyl is

- (a) Square Planar ! (B) Pyramidal
(c) Tetrahedral (d) Octahedral
JBS =BHRS @o¥) 68
(a) 5B SB580 (b) 2BHES
(c) SEdydaso (d) egsodaso
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12.  The most stable Oxidation state shown by lanthanides is ...
rogREer SrD 0HBE HES whyssen Soug
(@) +1 wAb) + 1 ©)+1V (d)+1I

13. Which of'the following is a hard acid?
L (Bob & B axcrosTines® edimS SSM SS5@EAIE?
v(a) Li* (b) Cu* (c)Ag* (d) Au’

14.  Which of'the following is used as a source of oxygen in submarines?
Bod 06 80D BPOSTENOS® e8yms SHT SDTRARD?
(a)Li,0 (b)Na,0, (©) KO, (dK,0,

15. ’fhe orange colour of Cr,02" is due to.
-(2) Metal to Ligand charge transfer transition
by Ligand to metal charge transfer transition
(¢) Crystal - Field transition
(d) Charge - transfer complex formation
Cr,05” @BwE) 8o BorHE s°8es0.
(2) Erin Bo& BrrokS 6Ss wbd H655S
(b) Brof %008 s w38 wbd SO555
(0) $)BE - & 56555
() 93% - 26D Jogg dovyew

16. The Atomic number of Copper is 29, it's EAN in [Cu(NH,) 4]2+ iy 1'16

S Gg) B8 Sogg 29,[Cu (NH,), %ot 070 (em08 S5m0 Sogs...
Aa) 35 (b) 36 (©)49 ' (d)40
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18.

19.

20.

21.

Which of the following elements is poisonous to living systems even in small
doses?

2Hod (_éo& TS O Soreseen SENDS St Eree DdgHen?

@P (b)Na " (¢)Zn Ai) Hg

The metal present in B, Vitamin is |

(a) Iron (b) Magnesium (c) Copper /@) Cobalt
B, 9008 ¢od &,

(a) =050 (b) Do (c) o096 (d) S
Among tﬁe transition metals, +8 oxidation state is exhibited by.

50555 Sarosre aho +8 e Etn {8 BrpRe.

/(a/) Os and Ru (b) Os and Fe
(c):Os and M (d)Ruand Rh

The hybridization in IF, molecule is.

IF, ee0s) Soth $0EBEBeas®.

(a) dsp® (b) d%sp’ (c) dsp® ~(d)sp* d’

Which of the following compound is prepared in the laboratory from Benzene
by a substitution reaction?

(a) glyoxal (b) cyclo hexane

(c) hexa bromo cyclokhgxane w(‘d) acetophenone

808 TS O $pEREn B@ErKed® BodS, HEFSH Io Dok EArG
336
(2) 3 oS b) 28 TS

(c) 3rery (R & S (d) & HFS
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22.  Which of the following reacts with ammonical cuprous chloride?
Bod 6" D& wIMVES ST SBES 35 Totis
(a) CH, (b) C,H, (c) C,H, (d) CH,

23. The chlorination of ethane is an example for which type of the following

reactions?
},(Nucleophilﬂic'substitution - (b) Electrophilic substitution
(c) Free radical substitution (d) Rearrangement

&3S Tws) FORRST 585 (Bod TS D S areese?
(a) Srs8Br208 (H8F0e (b) 208%208 Hagse
(€) T (r856E (Hadsen (d) 35508
24. The strongest acid among the following is.
(\a) ’Phenol (b) Methyl pﬁenol '/6) Nitro phenol  (d) Chloro f)henol
Bod 0&° w8 aw@é R0,
(a) S (b) BS DS (¢) IS (d) °65aes

25. InKolbe's method of preparation of alkenes the acid used is

(a) Formic acid (b) Mono carbO);ilic aqid
(c) Tri carboxylic acid &/é) Di carbdxylic acid

') $586° shSui Sosrth Boobs avErAcD sko

(a) 8 eo _ (b) 3rS° =oon)8)08 o
(©) B o8 P8 o (@ 2 o808 o

26. Which of the following is a dienophile?
Bod AE* oSS H8?

(a) (b) Ac) (d)

— f CH; E CH'3 — CH3
I% = & OH
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27.

28.

29.

30.

31,

Which of the following reactions is called Rosenmund reaction?
(a) Aldehydes are reduced to alcohols

(b) Acids are converted to acid chlorides

(¢) Alcohols are reduced to hydrocarbons

(d) Acid chlorides are reduced to aldehydes

Bod =368 o 58550 5‘5@526306&“) EOOESe5n @otHEy?

(a) COFSNORS e—segra’ﬁé’e»m B850 Boboshes

(b) ©Sress @@ §B8&enre SoeEé>

(c) sepstSess ?@sso@&nm BoE800 BoBoe,

(d) ©55%880% B rEenrr Eah8Semo z.?)ov&oiﬁ)éo

Which of the following 1$nota biopolymer?

(a) Cellulose - (b) Nylon-6 (¢) Insulin (d) DNA
Bod 6 &5 2055 w08 d6?
(@) Deogs's (b) 35 - 6 (©) 3y®S (d) 8255

The peptide bond is
228 wogo wkse
(a) -CONH, /(b) -CONH- (c) -COONH, (d) -N=C=0

Chloro Ethane undergoes hydrolySis by ____mechanism
§%8° %ds ... e S0% erESost 20k o,
(a) SN ) SN? (©)E, (d)E,

In Reimer - Tiemann reaction with which the phenol is treated in presence of
NaOH ?

858 - B8 55508 »SiH NaOH $iig08® B0 SE§ Boae?

(a) CCl, ' ./(f)) CHCI, (c) CH




32. The catalyst used in the Wolf-Kishner reduction of Carbonyl compounds is
&f) - 8686 356 SEIIS Syeo Tk, KoHESmos® eB@RRoD GBySEe
@PUH,  ()ZnHgHCl  ()LiAgH, ‘6 NH,-NH,

33. Which is the strongest acid amongét the following?
(Bod TS oS epsn H6?
(a) CH,COOH ; (b) Cl CH, COOH
A% F CH; COOH (d) CH, CH, COOH

34. Acgto acetic ester in acid hydrolysis gives.
a?oéjje IRBE AP ey 2odFhns’ enLs.
(a) CH, CH, COOH (b) CH, CO CH,
(c) CH, CO C H, Vé) CH,COOH |

35.  Which of the following compounds does not react with NaHSO,
Bod &S O Baiy¥so NaHSO, &° 355 Botses.
(a) HCHO (b) CH, CO CH, (c) CH3CO CH, (d) CH, CHO

36." Which is the weakest base among the following?
Bod TE° wedrss g0 567 |
(a) CH, NH CHO (b) C,H, CH, NH,
(¢)NO, CH, NH, (d) C;H,; CH, NHCH,

37. Primary, secondary and tertiary alcohols can be distinguished by

(a) Baeyer's reagent (b) Fehling's solution
(c) Sulphuric acid : (d) Lucas reagent
@58, DEoud HBas BYP sepFSes BIBS F5HBFt.
(a) BaHG) =8%o (b) 2owdoffy ==8%0
(c) BeomytE exio (d) ersel o850
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38. Nitro benzene, on reduction with Zine dust and ammonium chloride gives:
(a) aniline "6) phenyl hydroxylamine
(c) azobenzene (d) hydrazo benzene

3 BofS 205 D& HBcH o)abo §FoEe’ S5y Bod DBEBSH.

. (a) 03 (b) HIS &S
(c) os’BodS (d) 3rE&*BoLS
39. Pyrrole does not under £o.
(a) Halogenation (b) Sulphonation
(c) Nitration \/é) Friedel crafts reaction

HE°S O SKE® s,
(a) SBSf2dg8wo (b) S0 (d) FS*EBwo (¢) BES &g 585

40. Inethyl benzene the base peak is due to

(a) C;H  CH, CHj (b) Pﬁenyl cation

(e) Ethyl cation V(«("El) Trbpylium cation
386 BodS S0 Sprs BeSsw AEIS) DG,

() C, H, CH, CH? (b) 336 SecS

(€) 58S setocirs (d) E*850c%0 seercsrS

41. Under what conditions gases generally deviate from ideal behaviour?

(a) At high temperature and iow pressure

/(b) At low temperature and high pressure
(c) At high temperature and high pressure
(d) Atlow temperature and low pressure
d 5’36?863068 TOHed BEY) [BSES 008 Lo SrH?
(2) 0B &S HBw vy Hikso
(b) @) aQKE Do ©E Sikso
() 088 aPS ok ¥ Siso
(d) 0oy s Lobasw ooy HEsa
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42. The value of 'b' in terms of critical volume is.
:\’)o&é 30N HBEreTNI Ho2odod b’ g DenH?

(a)Vex3  (b)Vex2 (©) ? (d) %

43. Schottky defect is observed in the crystal of
d) Saren O 5BL0S® EIBOB.
(aNacl . (b)Tlcl (c) Agcl (d) Mgcl

2

44. Which substance act as Super conductor at 4K .
4k 26%3 D JTPo WATEELIT BB,
(a)Hg (b)Cu (c)Na (d) Mg

45. Which pair from the following will not form an ideal solution?
Bob DS O & ©i5E) [EBesn DEYESE?
(a) CCl, + SiCl, (b) H,0 + C,H,OH
(c) C,HBr+ C,H.I (dCH,+CH,

46. The solubility of a gas in liquid increases with
(a) increase in temperature
(b) reduction of gas pressure
Vé decrease in témp'erature and increase of gas pressuré |
(d) amount of liquid taken
Barod® arcsh» rHdohd 8IS Jen K.
(@) LS BosKo Se
(b) Sesssnts Shosto S
(¢) eSS SRostio HBa aratn HEarY) Bosto

(d) 85058 (5550 HB5wetD
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47. Which one of the following is a lyophilic colloidal solution?
(a) smoke (b) gold sol
(c) starch aqueous solution (d) cloud _
Bod S® OTrHOE Sepanis (E*Seasn D6?
(a) 5 (DRSS

(©) B oS0 (d) oo

48.  According to Langmuir adsorption isotherm, the amount of gas adsorbed by _
unit’ surface area is.
ePoRgrsE ed&ke SIS T 005809 dse0¥ TR0 ©hE ke FobS
T ToE) HBSeasin.

, 1+bp ap
(a) K.p (b) (c)K.p ' @ 1
49. Liquid mixture with lower critical solution temperature.
(a) Phenol - H,0 (b) Nicotine - H,0
(c¢) Tri ethyl amine - H @ - () C,H,OH- H,0
ERY S0ty s GRHS Ko (535 oiEs. |
2)»>S - HO b) Q8°&S - H,0
)18 335 oS - H,0 d) C,H,OH - H,0
50. Which of the following solute shows abnormal colligative property?
\/(/ KCl (b) Glucose (¢) Sucrose (d) Urea
Bod m&)ef OIS EePerS $EEn v [OSE5H 967
(a) KCi1 (b) 08’ (€) BES (d) o%w8aske
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51.  Theratio of observed colligative property to the calculated colligative property

is called.
(a) Vant Hoff factor 'i' (b) Roult's factor
(c) Gibbs factor (d) Arrhenius factor

(@B EerTrS (908 EEoB Eerprd o8 Ko B DSotrt?
(a) ro&S S8 Heedo ' (b) G Koo
(c) A Heeso (d) ©8RaHS Hemso
52. The number phases of the point corresponding to 0.098°C and 4.58 mm Hg in
water system.
A8 $5556° 0.098°C bt 4.58 mm &pso S8 eod @se vowy,
(a)2 (b) 1 (©)3 (d) 4

53. The units for electro chemical equivalent are
(a) gram.coulomb N (b) gram. amp'.sec’!
(c) gram. amp.sec’! (d) gram. amp.sec
De5gE SPaHS Sersoso GwE) (Hwesren....
(a) . Brenod (b) (. ©03HcHE™! DEE!

(©) . 80dSHE. B0k ! (d) &, ©020%5! 2EE
54.  Molten CuCl, iselectrolysed using platinum electrodes. The reaction occuring

at anode s ...

Hod CuCl, S apdo JoEFeDH ad@rAcd Juss DIkemdn S18HH oS
D 280 S8...
() 2CI — Cl,, +2¢° (b) Cl,+2e —2CI

(c) Cu** +2e— CuS (d) Cu_ — Cu* +2e
®
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55. The halflife of a first order reaction is 10 sec. What is the rate constant
(in Sec')?

w8 (BES (ESrod S5 B 8808 oo 10 1oy eond Bew Joro¥o
(REogs®)?
2) 0.0693 b) 0.693 ¢) 6.93  d)69.3

56. Forareaction to be spontaneous at any temperature, the conditions are ...

2 SIS SEI 8 S5 wahBEBo erHes Jdwodsen....

(a) AH=+ve, AS=+ve (b) AH=-ve, AS=-ve
(c) AH=+ve, AS=-ve (d) AH=-ve, AS=+ve
57. For the reaction H, o Cl . - >2HCl AH=-44 KC(al.
_ _ , g) 2(g) ‘

‘What is the enthalpy of decomposition of HC1?

OGP DoH?
(a) 44 KCal/mol (b) -44 KCal/mol
(c) -22 KCal/mol (d) 22 KCal/mol

58. Atabsolute Zero, the entropy of Pure crystal is zero. This is
(a) First law of thermodynamics
(b) Second law of thermodynamics
«(¢) Third law of thermodynamics
(d) Zeroth law of thermodynamics

DB L e 3G a8 BHG HH&Bo BwE) do|es*e Erlg0. & ABES0....

(a) 8518E BE TosB JcHo (b) eg5855(g To&® Aasio
(0) 8grBEmE et Ao (d) egrBsmE S5 oo
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59.

60.

61.

62.

Aa) 6898885 Sgse

According to Lambert - Beer law

eroald - HE Qoo (HseBo

(@l I=11 +Kbc (). I=11 -Kbc
)/ I=11-Kb (dI=11+C

The light emitted by a glow worm is an example of ...

(a) Fluor'escencg (b) Phosphorescence
(c)Reduction \£d) Chemiluminiscence
QoeanrHBd HBKH 08 SFod e w30 B8 aTreSen?

(2) &6 (b) BBt (c) Boh88emo (d) BrcsH® &

Which one is not a green solvent?

. (a) Liquid Carbondioxi.de‘ (b) Liquid Ammonia
(c) Ionic liquids (d) Water | |
Bob S 568 [SB 8 D67
(2) (85 s2)SE «B)E (b) (85 e
(€) ©SPIE (Sawen (d) 5%

Which techniques does not assist in greener synthesis of chemicals?
(a) Derivatization methods (b) Microwave assisted reactions
(c) Ultra sound assisted reactions (d) Use of catalytic reagents
ErahTre B8 voghns® S HE8 d6?

(b) E® SBoK sk TBgen

(C) ®8LR D% $Bgen (d) &@)8% so8sre IS0
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63. Which is the narcotic analgesic among the following?
..;,(ﬁ) Heroin (b) Ibu profen (c) Naproxen (d) Aspirin
Bod a:aéﬁ_ TEHBE wrSERE H6?
(@) el (b) mar @FDS (€) @RS (d) &S
64. Which of the following class is used for the treatment of peptic ulcer?
(a) Antibiotics (b) Anti inflamatory
~(c)Anti histamine (d) Hypnotics
Bod S B YRS web DBH)S® SBRPAFG?
(a) woBadirdE) - (b) s08 =a55pHed
(©) wob S | () anss

65. Which of the following tranquitizers is not a derivative of barbutaric acid?
(a) Veronal v(ﬁ) Equanil (c) Seconal (d) Luminal
| Bod S D (¢08Besb erBangtodE ey azBF0 °H?
(a) IS (b) & 5°RS (c) 8>S (d) oS

66. Chloroquineis...

(2) Antiviral drug " (b) Anti malarial drug

(c) Antiseptic drug (d) Anti TB drug

55°&S af ...

(a) w08IES Tio ¢ (b) 28605 drsem THSo
(c) wodYE Bdzo (d) 0% daeBes TG0

67. Whicfl of the following is a Chromophore?
(Bod &° [E53585 HB?
J @C=0 (b) .- OH (c) - NH, (d) - OR
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T 68. Which of the following shows TT - TT* transition?
Bod AS° DB T - TM* $058550 Sr%0?

vl :
(2) C,H,(b) CH,0H (c) CH,CI (d)CH,

69. Why IR spectra of 1° alcohols are recorded in dilute solution in CCl Al
(a) Alcohols do dissociate
e (b) Alcohols donot form H- bonds in CCl e
(c) Alcohols are not volatile
(d) Alcohols are insoluble
sFSe ang) IR $5H050% Gwg) CCL 085 rseros® Sardb 336 Jok?

() septier D@rEto Boths

(b) septen CCl, & H-momromdsysss
(c) so)ien )80 (Baren 5%

(d) sepsBSen 885D

70. The characteristic frequency of N-H band in Primary amines is at ...
(3508 oDFos® N-H 58 Gng) dogen s ..
Aa) 3500 cm! (b) 2500 cm™ (c) 1500 cm! (d) 770 cm™

71. How many orientations are expected for a nucleus with I = 3/2 when it is
placed is an external magnetic field. )
28 Bolgso ) I Denss 3/2 @R Py ©OHI0E FEoS® GodSHH ©b IH
8)6‘36&30 éoaaé.
(@)1 (b) 2 (©3 ./(d) 4
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72. The standard or reference substance used in NMR spectroscopy is.

. (a) Tri methyl Silane J‘B) Tetra methyl Silane
(c) Tri methyl Borane (d) Tetra methyl Borane

NMR 585680 S0 aBEPAOT (Erds HErgsm.....
(a) (B 0BS 1SS (b) Bler DS 1SS
(c) B 23S 558 (d) Blgr 28S 5T

73. The molecule which is likely to shown n-TT* transition?

/n)T HOBEHH0 S w0y JB? '
() ROH () RH (c) C.H, (d) C,H,

74. Nylon 6,6 is obtained by condensation polymerisation of ...
(a) adipic acid and ethylene glycol
V({) adipic acid, hexa methylene diamine
(c) Terephthalic acid and ethylene glycol
(d) adipic acid and phenol
IR 6,6‘@26326& =& Sng) DOFPRID rO50EGe0 S BYK?
(a) A8HE 5o b AHOS Bsed
(b) DBBHE eysw, ey DHOT JweS
(c) BBErOE epin HON IHOS [seS
(d) DBVE espsn HBS Haed
75. Natural rubber is a polymer of v _
(a) 1,1 - dimethyl butadiene ‘/(‘:)) 2-methyl-1,3 - butadiene
(¢) 2-chlorobuta-1,3-diene (d) 2-chlorobut-2-ene
D Bapo B BwE) POXE?
(2) 1,1 - B0BS awgerBonS (b) 2- BS - 1,3 - engrRowS

(c) 2- &6°amgee - 1,3- GowS (d) 2-8°6%amges - 2- &S
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76.  Composition of Zeigler - Natta catalyst.

T

78.

R0 - Sep AB)BESH Boo¥) Koerssw.

(a) (Et), AL TiCl, (b) (Me), Al. TiCl,
\/(f:) (Et), AL TiCl, () (E1), AL PtCI,

A drug which acts as antipyretic as well as analgesic is

(a) Chloroquin (b) Pencillin

(¢) Chlordiazepoxide \%d) 4-acetamidophenol

BoBDBBETLr HBOH OTSEVE e BOBa%e B0

(a) %6°&S (b) 2003

(c) E°ges’3y)8 (d) 4-o2eroespaed

Adrink éontains sugar, salt, alcohol and vitamin-C. A gas chromatogram could

be used to determine the ...

.(a) Alcohol and Sugar contents only

(b) Alcohol, Sugar and Vitamin-C contents only

V(/c) Alcohol content only

(d) Concentrations of all ingredients in the drink

8 SR SHY, o, GoFS H DOWS-S o KOA 4B, ot
B eB5@ PR DBooBKOALY. ..

(2) WS, HBake $BY HoKTeren S
(b) wesEs, SHY, DODS ~ B HBSTeTen SrEDh - ‘
(€) oSS $BKTesn SrisH

(d) Voo’ 6ol o ebeses
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79. Ion exchange chromotographs is based on the ...
(a) electrostatic att;action v(b) electrical mObility of ion species
(c) adsorption (d) partition
OIS VKD (EE R B WerEHH?

(a) 28 Defg® wBen (b) BAPSY DS Sobedn
(C)o684heasm (d) - DegfesS

- 80. IPM stands for ...
IPM eSre. .
(a) Integrated Pest manufacture (b) Integrated Plant manufacture

(c) Integrated Pest maﬂagement (d) Integrated Plant management

81. The probability of finding an electron in an orbital is approximately ...
2.8 SRErS S0 Jo(TSH SRS Hogrdyd KSere. ...
/a) 95% - (b)50% ©)60% - (d)25%

82. What is the wavelength (in m.) of a particle of mass 6.22 x 10?° gm moving
with a velocity of 10* ms ? (h=6.62x 1034 1.S)
6.22 x 107 rrswe (@5850°8, 10°80.27 In&ns® (Hairding) a8 Swmo SBoi
8850 Doege® dos?(h=6.62x 107 1.S) '
(2) 6.62 x 10™* (b)6.62 x 107
(c) 10? (el Tl

83. Which of the following is a paramagnetic?
Bob s°QE° SPTe ©CHIESEFWND SEH9e D6?
J(@O0, (b)N, (c) 02" (d)H,
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84. Which of the following molecular orbital has highest energy?
Bod AS° odsHE 48 EDAGL e BBErS DB?

(@) o2s (b) a2px \/6) TT* 2py (d) T 2py

85. Which is the following formed meso form of the compound?
(a) alanine (bj acitic acid
\/(c) tartaric acid (d) 2-chloro-2-bromo acitic acid
Bob® a=Q8® Sos ErS5Endn BB SgSsn HH?
(a) ©o38 (b) MRB=epBn

(©) e.rcéa@asgzéw (d) 2-8%¢° - 2—@3‘5306&)?0'63%’;326».

86. Which of the following compound (s)has 'Z' configuration?

Bod 98 & 263)&@’26500 eo 7! 8)@365» SeHSE0?
Cl Br Cl F Br CH3
\ 7. \ /. \ v
1T U (I Ilj. ' C =iy ) C=C
H RS P em || 8
H F I Br C1 H
(a) I only (b) I only (c) ITI only «é) I and III
(@) I3mE$D (D) Sl (c) IIT S8 (d) I S8 I

87. Which following set of ions are colourless?
Bod IS D wcirSe HW® Sordd EOR oX?
(a) Zn*, Cu®, Ti**, Co?* (b) Mn™, Cr**, Cut, V2*
(¢) Cr*, Mn**, Zn?*, Ti** VAd) Zn*, Cu?, Ti*, v+
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88. (NH,), CO, s the group reagent for V group radicals. Na,CO, cannot be used
for precipitate these radicals because ...
(a) MgCO, is insoluble in Na,CO,
\Xg) MgCO, will also‘ be precipitated in the V group
(¢) Na,CO, is insoluble in water
(d) Na,CO, will decrease the solubility product of MgCO,

V8 i) BE8 S50 (NH,), CO, & a58y oo Na,CO,d
SHBrA0SL. oEHEod....
(a) Na,CO, S0t MgCO, 856

(b) MgCO, &re V& (166" esgRoset

(¢) Na,CO, d8&* 8oreH

(d) MgCO, &%) (o ogof Na,CO, $Rohis

89. Which of the following cation will not precipitated by H,S in presence of
ammonia?

8ob 8" O SurS eRmAATr 5506 H,S Bd 0sEDoSEn?

(a) Co* (b) Mn?* /(c) Cd** v (d) Fe*

90. Which of the following is soluble in excess of NaOH.

&od =6 O6 @88 NaOH &° £&rH.
/(é) Al1(OH), (b)Cr (OH); - (c)Fe (OH), (d) Mn (OH),

91. 2sand 2p - atomic orbitals combine to give how many molecular orbitals?
25 $Bafn 2p - B8 wferd)) OB Y e GOEPERD DESHD?
(a)2 v (b) 4 (c)8 (e
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92,

93.

94.

9s.

Bond order of N2, N2 and N respectlvely
/(a)25 2.5and 3 Tt o (b)2,2.5and3
(c)3,2.5and3 (d)2.5,2.5and 2.5
5. N3 508w N, © 208 [Esrosren SHST.....
(a)' 2.5,2.55805% 3 (b) 2,2.5 6065 3
(¢) 3,2.5 £Bco 3 (d) 2.5,2.5 %8050 2.5
Presence of traces qf A's203 in the reacting gases SO, and O, in presence of

platinised asbestos in contact process acts as.

(a) cétalytic promoter ﬁ) catalytic poisdn
(¢) dehydrating agent (d) drying agent

o3 5GBS o a@BE $508° SO, BB 0, iy w0h g6 oS
AszOé a5 ©8 s [$500i5H.

(@) &@)5e @580 (b) a@)ses Do

(c) DBDSBes s=8%o (d) &8 ses%0

Which kind of catalysis can be explained on the basis of adsorption theory?
(a) Homogeneous catalysis (b) Auto catalySIS

(c) Negative catalysis \/ (d) Heterogenous catalysis

0885 derodo (Hsedo D DS (@5 505D,

(a) BerdcdH a@yses (b) Syoho &@Ses
(c) ame &B)Se (d) DerdaDH e@BySes

At low temperatures silicon and germanium act as.

(@) Super conductors (b) Semi conductors
(¢) Conductors A) Insulators

O oIS 5§ 2OS HB FHIdHoen Je» (S5BIo?

(a) ©8 >rseen  (b) oETen  (€) aoiesren (d) warseseen
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96.

97.

98.

99. .

Which of the following has largest paramagnetism.
Bod AE° wpE o ©OHINOSSFOHD ST,
@ [CREE) =™ St ) jb) [Fe (H,0),] **
(c) [Cu (H,0)] ** (d) [Zn (H,0),] **

Which of the following is a six membered heterocyclic?

(@Furan  (b) Pyrrolé : (c) Thiophenez{)?yridine
Bobd VS DB et SESrmHe Jerdadh Sech Baky¥so?
(a)sir5oes (b) »8°S (c) $&35S (d) 20688
What is the hybridisation of Boron in diborane?

250" oS D) K$osbEBesw.

(2) dsp? () sp \@ P’ (@ sp”

AP*,Fe’* and Cr** are grouped together for Qualitative analysis because their...
(a) chlorides are insoluble in NH,

(b) carbonates are insoluble in NH3

vé) hydroxides are insoluble in NH,

(d) hydroxides are soluble in NH,

Hoerd)s DFne® AP, Fe’* ©ootm Crten 8% &othid. dothdos aa....
(2) §8&en NH, & 8515 ~ (b) =°6535en NH,&° 5559

(¢) TEFEen NH,&° 8859 (d) TEg)fer NH,&° 85108
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100. What is the IUPAC name of pesticide DDT
\'/6 Di chloro dipheny] tri chloro ethane
(b) 1, 1 - dichloro - 2,2 2- tri phenyl ethane
(c) 1,1,1 - tri chloro - 2,2 - bis (para chloro phenyl) ethane
| (d) Di phenyl tri chloro ethane
o3 808080 @y BtH ODB?
(2) 85%° 935 B £°6° &3S
(b) 11 -gg’s® - 2,9:,2 - (B $3S &3S
(©) 111 -8 6 - 2,2 -85 (3o & 236)
&

(d) 8335 (858" &3S
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